Druha mocnina dvoj¢lenu, soucin dvojclent — uziti vzorci
(VEtsi obtiZnost)

S pouzitim vzorcli uprav vyrazy:

=

(15-a)-a+15)=

2. (-2+x)2+x)=

3. (c-7)7+¢c)=

4. (3g+11h)-11h+3g)=

5. (y-x)-y-x)=

6. (-12+p)* =
7. (-s+8r) =
8. (-3-tf=
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=

(15-a)-a+15)=(15-a)15-a)=(15—a) =225—30a+a’

(—2+x)2+x)=(2+x)2+%x)=(2+x)* =4+4x+X*

(c—7)7+c)=(c—7)c+7)=c®-49

(3g +11h)—11h+3g)=(3g +11n)3g —11h) = 9g? —121h?

(y=—xN=y=%)= (D (x+y) DX+ Yy) = (-D* - (X + y)*= X" + 2xy + Y’

(-12+ p)* =(p-12)* = p* —24p+144

(—s+8r)° = (8r —s)? =64r? —16rs +s?

(=3-t) =[(-)- @+ =(-1)?-(B+1)> =9+ 6t +1?

(= Xx=5Y)~x+5y)= (-1 - (x +5Y) - (-x +5y) = (-1) - (5y +X) - (5y — X) =
= (-1)-(25y® — x*) = —25y°* + x* = x* — 25y°
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